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24. a) Construct the image of quadrilateral ABCD under enlargement scale factor -2 center of
enlargement E.

A

b) A model of a freezer has a rectangular shutter measuring 4cm by 2cm. The area of the actual
shutter of the freezer is 0.72m’.

i) Given that the actual freezer is 2.7m long, calculate the length of the model in centimeters
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ii) Calculate the volume in m® of the actual freezer if the models volume is 12cm
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SECTION II (50MKS)
Answer 5 questions only in this section

17. The vertices of quadrilateral OPQR are O (0, 0), P (2, 0), Q (4, 2) and R (0, 3). The vertices
of its image under a rotation are O’ (1, -1), P'(1, -3) Q'(3, -5) an R'(4, -1).
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(a) (i) On the grid provided, draw OPQR and its image O'P'Q'R' (2marks)
(b) (ii) By construction, determine the centre and angle of rotation. (3marks)

(c) On the same grid as (a) (i) above, draw O"P"Q"R", the image of O'P'Q'R' under a reflection

intheline y=x (3marks)
(d) From the quadrilaterals drawn, state the pairs that are:
(i) Directly congruent; (2marks) '
Qoo lebeat 0792 £ O'FR'R v 6>

(i) Oppositely congruent (2marks)
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